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3.2.1
Terms

Blitzkrieg:  
· A German term for “lightening war.” 

· The use of swift massive strikes from the air coupled with rapid tank invasions on the ground. 

· It was designed to quickly defeat the enemy.

Phoney War:  
· The period of time from October 1939 to April 1940 when there was a lull in the fighting (no major battles or encounters).

Maginot Line:  
· An elaborate set of defensive fortifications (fences, other obstacles) built by France along the French-German border.

· The purpose of which was to defend France from German invasion.

Kamikaze:  
· A Japanese pilot who performed suicidal missions by crashing their aircraft, loaded with explosives into an enemy target, especially a ship.

3.2.2
Germany’s First Year of Success

· When war started in September of 1939 with the invasion of Poland it signalled the beginning of a string of successes for the German armed forces in Europe.
· The success was due primarily to the battle tactics employed by the Germans.

· Poland was attacked by the Germans and was defeated within 4 weeks.

· The Germans suffered just 8000 casualties while the British and French (who came to help) had barely fired a shot. 

· The Germans had achieved this success in Poland through BLITZKREIG.

· The principle behind this strategy was that the best way to defeat an enemy is to throw a massive assault against the enemy’s weakest point and cut them off from all supplies and communication.  

This was achieved by:
1. Enemy headquarters and communications were bombed by artillery and bombers. Parachutists dropped behind enemy lines to cause panic.
2. Tanks and infantry punch a hole in the weakest part of the enemy frontline encircling enemy strong points.
3. Troops following cut the enemy off from reinforcement’s thus forcing surrender.
· After the end of the campaign in Poland the war entered a period of relative inactivity known as the PHONEY WAR.

· This ended when Germany invaded Denmark and Norway in April 1940 and the Netherlands, Belgium, Luxembourg and France in May.  

· Denmark fell immediately, Norway, with the help of the Allies continued to resist until June.  Holland lasted one week and Belgium three weeks. 

· In France, the Germans swept thorough, driving a wedge between the bulk of the French army along the MAGINOT LINE and Allied forces in Belgium.

· The Germans pushed for the sea forcing the British and French into retreat.

· The Germans encircled the troops pinning them down on the beaches of Dunkirk and France was very quickly forced to surrender on June 22nd, 1940.  

· The new tactics combined with the unpreparedness of countries to handle an attack enabled Hitler to basically walk through Europe and conquer each territory he desired.  Countries had neither the troops nor the materials to effectively defend their nations.

3.2.3
The British Survive the Battle of Britain
· It can be stated that Britain did not out rightly win the Battle of Britain but prevented the Germans from winning.

· There are a number of reasons for the British success including:

1. Human Factors - Royal Air Force (RAF), resolve of British people, and strong leadership.

· The RAF attacked the German planes with skill and daring.

· They were greatly outnumbered (4 to 1) but were successful in out shooting the Germans (2 to 1).

· The RAF consisted of pilots from not only Britain but other countries in the Commonwealth along with Polish pilots and 3 fighter squadrons of US pilots known as Eagle Squadrons.

· Winston Churchill summed up the importance of the RAF when he said:

· The resolve and determination of the people of Britain enabled the country to survive the devastation they faced day in and day out.

· The people withstood bombings, homelessness, hunger, and separation.

· Instead of giving up they became more determined each time they faced challenges, taking pride in their country and keeping Britain alive.

· British leadership was also a key factor in its survival during the Battle.

· Prime Minister Churchill was an inspirational leader who guided his people throughout this time.  

· In his speeches he focused the attention of his people on the goal at hand and always evoked a sense of duty.

· One of his most stirring addresses to the people of Britain included the following:
2. Technological Factors - radar and the Ultra.

· The two main technological advances that led to British success were the development of RADAR and ULTRA.

· The invention of radar gave the British a tremendous advantage during the Battle of Britain.

· The radar could detect the approaching of German bombers/fighters (from where, how many, what speed, etc.)
· The element of surprise was eliminated and the British had enough time to prepare their defences and give people warning and time to take shelter.

· The Germans were using a code machine called an ENIMGA (could produce 2.2 billion code combinations).

· The British obtained one of these machines and began to figure out the German’s plans.

· The information that was obtained was called “Ultra”.

· With this information the RAF was better able to deploy planes because they knew German flight plans and bombings.
3.2.4
Key Battles of World War II
1. Dunkirk Evacuation:
· In May of 1940 German troops had forced British (British Expeditionary Force) and French forces into a narrow beachhead around Dunkirk in Northern France.

· With nowhere to hide these forces faced certain doom at the hands of the German army.  

· However, an order given by German Field Marshal Gerd Von Rundstedt to halt his tanks, later validated by Hitler, gave the troops sufficient time to evacuate by sea.

· Over a period of 9 day, 338 226 soldiers were rescued by a variety of ships from Britain.

· Boats of all sizes were used to transport the troops back to Britain.

· Many of the troops were able to board destroyers and other large ships while many thousands were carried back to Britain by the famous “little ships of Dunkirk” (fishing boats, pleasure craft, etc) including a 15ft fishing boat called the Tamzine.

· The event was seen as both a major defeat and a major achievement.

· It was a defeat in that the battle for France was lost and an achievement because the troops had been saved to fight again.

· These troops would serve as the basis of the fighting force for future engagements.

· Also, the rescue lifted the spirits of the people of Britain and prevented the Germans from ending the war quickly.
2. Battle of Britain:
· Hitler’s plans for conquering Britain required that the Germany must gain control of the skies.

· The Luftwaffe was given the task of gaining air superiority over the RAF.

· The Germans began targeting areas which were significant to the war effort including shipping convoys and shipping centers, then they shifted to airfields and infrastructure, then aircraft factories and ground infrastructure and finally they resorted to attacking areas of political significance and using night time terror bombing tactics.  

· The constant sifts from one strategy to another was a fatal mistake for the Germans.

· By concentrating attacks on the cities the Germans had allowed the RAF to recover and become stronger.

· At the same time the British people found strength and pride in repelling the viscous German attacks and became more resolved than ever to push back the German attack.

· Between then and May 1941 they made 71 major raids on London and 56 on other cities, but the damage they wrought was too indiscriminate to be militarily decisive.
· As a result the Luftwaffe was unable to gain control of the skies over Britain.

· On September 17, 1940, Hitler was forced to delay the planned invasion of Britain (Operation Sea Lion).

· It was the first major defeat suffered by Germany and was one of the crucial turning points in the war.

· If Britain had fallen the war could certainly gone in a different direction.
3. Operation Barbarossa:
· On June 22nd, 1941, Germany sent more than 3 million troops into Russia.
· The Soviet army had 2.9 million troops on the western border and outnumbered the Germans by two to one in tanks and by two or three to one in aircraft.
· German success Hitler and his generals had agreed that their main problem was to lock the Soviet army in battle and defeat it before it could escape into the depths of the country.

· To Hitler, the land and resources of the Ukraine and the oil of the Caucasus were most important.

· German plans indicated a victory in about ten weeks, which was significant because the Russian summer was the ideal time for fighting in the USSR. 

· Russia was doing exactly what the German generals had wanted, sacrificing enormous numbers of troops and weapons to defend Moscow.

· Hitler, however, was not satisfied, and over the generals' protests, he ordered Army Group Center to divert the bulk of its armour to the north and south to help the other two army groups attacking Stalingrad and Leningrad, thereby stopping the advance toward Moscow.

· The delay was significant, it was now into fall and the weather was turning and neither the men nor the machines were outfitted for extreme cold.
· On December 5 the generals commanding the spearhead armies reported that they were stopped: The tanks and trucks were freezing up, and the troops were losing their will to fight.  

· The Russian troops, better prepared for the weather, made a counterattack and started to drive the Germans back.

· The German Generals wanted to retreat but Hitler refused them.

· As a result many thousands of Germans were captured and the threat to Moscow was somewhat reduced.  
· However, the damage to the German army was irreversible and the 2 front war was taking its toll on Germany resources, as many vehicles and weapons were lost.
4. Battle of El Alamein:
· Italian forces and the Nazi Afrika Korps entered Egypt in a drive for the Suez Canal in June 1942 under the command of Field Marshal Erwin Rommel.

· The British 8th Army held fast at El Alamein, about 60 miles southwest of Alexandria.

· On October 23 British infantry cut through the Axis lines in a bayonet charge that opened the way for an armored breakthrough.

· The attack forced the Axis back 1,300 miles across the desert.

· El Alamein saw the Allies successfully repel the German advance across the region.

· The battle was significant because it allowed the Allies to control the Suez Canal and the supply lines to India.

· More importantly the Allies now had a staging area from which they could launch an attack on continental Europe.
5. Battle of Stalingrad:
· The Russian city of Stalingrad was attacked by the Germans in the summer of 1949.

· The battle became one of the bloodiest in history as both combatants adopted a policy of no surrender and no retreat.

· On July 28 Stalin issued his most famous order of the war, “Not a step back!”

· While threatening severe punishment for defeatists, he called on the troops to fight a “patriotic” war for Russia.

· The Russian Generals Zhuchov and Vasilevskiy proposed to wear the enemy down by locking its troops in a bloody fight for the city while they assembled the means for a counterattack.
· The Germans, forced to use troops from its allies to support their own troops, came under Russian attacks in November of 1942.

· By January of 1943 the German 6th Army was surrounded on three sides and were told by Hitler that they could not attempt to breakout.

· By January 31st, German General Paulus was forced to surrender.  

· While this was not Germany’s first defeat it would be one of the most important and one from which it would never recover.

· The Germans were forced back to approximately the same position they had started from in the 1942 summer offensive.

· The high tide of Nazi conquest in Asia had now begun to change and it would never flow back again.

· Hitler’s ambitions in Russia had been thwarted and the Germans were now forced to adopt a more defensive stance for the remainder of the war.
6. The Battle of the Atlantic:
· The Battle of the Atlantic was the longest continuous military campaign of W.W.II running from 1939 to the defeat of Germany in 1945 (height of fighting 1940-43).

· The battle pitted German U-boats and other warships of the German Navy (Kriegsmarine) and Allied convoys (merchant ships and navies of Britain and Canada aided by forces of the US).

· As Britain was an island nation, it depended heavily on supplies being shipped overseas.

· The Germans hoped to strangle Britain by cutting off supplies Britain needed to continue fighting the war and supplies to feed the people living there.  

· The Germans effectively used the U-boats to inflict high losses in convoys travelling the Atlantic.

· German Admiral Karl Donitz adopted the use of “Wolf Pack” tactics in hunting these convoys.  

· In addition to subs the Germans made extensive use of “surface raiders”, larger ships that attacked convoys on the surface.

· These were successful and used frequently until mid-1941 when the famous German battleship and raider, Bismarck, was intercepted and sunk.

· Her sinking and the advent of long range search aircraft virtually neutralized surface raiders.

· Advances in technology and increases in Allied resources eventually allowed the Allies to defeat the Germans and win the Battle of the Atlantic.

· The Germans had failed to strangle the flow of supplies to Britain and as a result Britain was able to provide necessary supplies to its population.

· Of even greater significance, the Allies were successful in continuing the massive buildup of troops and supplies needed for the invasion of France (D-Day).

· In contrast, if Germany had been successful the British would have been forced to surrender, D-Day would not have happened, and the outcome of the war could have been quite different.

7. Battle of Midway and Battle of Coral Sea:
· These two battles were fought in the Pacific between America and the Japanese Empire and were critically important to the direction of the war in the Pacific Theatre.

· The Battle of the Coral Sea was the first fleet action in which aircraft carriers engaged each other.

· As well it was the first naval battle in history in which neither side’s ships sighted or fired directly upon each other.

· The Japanese were attempting to strengthen their position in the South Pacific and the Americans wanted to halt any advancement they hoped to make.  

· The battle was fought between carrier aircraft crews flying bomber and torpedo planes. 

· In the end both sides suffered losses, with the Japanese winning a slight tactical victory (sunk more ships).

· However, in strategic terms the Americans were victorious because the Japanese invasion was stopped in New Guinea.  

· Of significance was the fact that this battle marked for the first time that a Japanese invasion force had been turned back without achieving its objective.

· Morale was lifted as the Americans realized that the Japanese were not unbeatable.

· Also, because damage to two of the Japanese aircraft carriers prevented them from participating in the Battle of Midway, which took place the next month, both sides now had virtually the same number of aircraft and contributed significantly to the U.S victory in that battle.
· The Battle of Midway is widely regarded as the most important naval battle of the Pacific War.

· The Japanese hoped that this battle would eliminate U.S naval power in the Pacific.

· The Japanese wanted to lure the remaining American aircraft carriers into a trap destroy them and them occupy the Midway Atoll as a part of an overall plan to extend their defensive perimeter and a jumping area for further offensive action in the Pacific.

· However, the Japanese underestimated the Americans.
· The American code breakers determined the date and location of the attack and set up an ambush of their own.

· During the battle 4 Japanese aircraft carriers and a heavy cruiser were sunk in exchange for 1 American aircraft carrier and a destroyer.

· The loss of four large fleet carriers, and over 40% of the carriers' highly trained aircraft mechanics and technicians, plus the essential flight-deck crews and armourers, and the loss of organizational knowledge embodied by such highly trained crew, were heavy blows to the Japanese carrier fleet.

· Japan was never really ever to recover fully from Midway, while the Americans continued to grow stronger.

· The balance of naval power in the Pacific had shifted in favour of the Americans with the Battle of Midway.

· Military historian John Keegan called the battle, “the most stunning and decisive blow in the history of naval warfare."
8. Normandy Invasion (D-Day):
· On June 6th, 1944 troops from Britain, America and Canada landed on the beaches of Normandy, France.  
· The Normandy invasion began with overnight parachute and glider landings, massive air attacks, and naval bombardments, early morning amphibious landings on five beaches codenamed Juno, Gold, Omaha, Utah, and Sword and during the evening the remaining elements of the parachute divisions landed.
· The events which occurred that day and thereafter constituted the most famous and significant battle of W.W.II.

· Allied forces faced heavy resistance from the Germans but they were able to establish a foothold on the beachheads.

· Hitler believed that this was not the main area of attack and did not mount a massive counterattack.  
· Allied air superiority limited German troop movement to the area and in a few days the Allies were firmly established in the area.

· By the end of the month the Allies had landed almost a million men and a significant amount of supplies (vehicles armour, etc.).  

· This battle was seen as the beginning of the end of the war.

· The Allies had established a toehold on the western shores of Europe with the success at Normandy.

· It was significant in that the Allies had brought the war to the Germans.

· For the first time in almost four years the Allies were back in France and they had pushed the Germans back from their stronghold along the French coast.  

· In a larger strategic sense, the successful Allied landing in France was a psychological blow to the German occupation of Europe.

· It called into question the German Army's ability to control western Europe, dramatically increased partisan activity against enemy occupation, and heartened the spirits of all those fighting against Nazi tyranny. 
· The balance of power on the continent, already weakened by Soviet offensives into Poland, was decisively tipped into Allied favour.  

3.2.5 Japanese - American Relations Prior to Pearl Harbour

· As a response to Japanese aggression in Asia, particularly in China, in the late 1930’s the U.S made some significant moves to show their displeasure.  

· In 1939 the United States imposed economic sanctions (stopped trading) which seriously affected Japanese industries that depended on American petroleum, steel, iron and industrial machinery.

· In 1940 Japan occupied part of Indochina.

· The United States warned Japan against further aggression and reinforced these warnings by stationing its Pacific Fleet in Pearl Harbor, Hawaii.

· In 1941 U.S. President Roosevelt imposed further economic sanctions on aviation fuel, iron and scrap metal.

· These actions seriously strained the relationship between both nations.

· Japan saw these actions as a direct threat to their security and economy.

· The Japanese refused to bow to U.S pressure and in July of 1941 they announced a new foreign policy.  
· The Great East Asia Co- Prosperity Sphere called for Japanese control of all resources in Southeast Asia and aimed to eliminate Western influence in the region.

· President Roosevelt responded by freezing Japanese assets in the U.S and terminated all trade between the two nations.

· As a result Japan faced an oil crisis as they only had one year’s worth of oil in reserve.

· The Japanese faced a tough choice; negotiate or fight.

· The Japanese felt that they had to take control of the situation and choose to fight war, but on their own terms.

· Almost immediately plans were formulated for an attack on Pearl harbour.

· Thus, the moves by the U.S to try to force the hand of the Japanese escalated tensions and deteriorated the relationship with the U.S.

3.2.6 America Succeeds & Defeats Japan

· The great authority of the Pacific war had been American industrial power, which produced a mighty war machine.

· Out of this production had come the Pacific fleet, a potent force that could overcome the vast reaches of the Pacific upon which the Japanese had depended so heavily as a defensive advantage.

· The decisive combat element of the fleet was the fast carrier task force, which carried the war deep into Japanese territory and supported advances far beyond the range of land – based aircraft.

· Land – based air power also played a decisive role.

· When carriers were not available to support offensives, it was land based aviation that measured the distance of each forward move.

· Also they proved important in providing close support for ground operations, while aerial supply operations and troop movements contributed greatly to the success of the Allied campaign.

· Japan had hoped that the attack at Pearl Harbor would be the first step in developing an empire in Asia, however the U.S. quickly recovered.

· Within a year American industry had all the damaged vessels back in service fighting against the Japanese.

· The size of the American fleet and the number of personnel, combined with more advanced technology and a faster rate of production, helped the Americans drive the Japanese from their possessions in the Pacific.

· In the final analysis, Japan lost because the country did not have the means to fight a total war against the combination of industrial, air, naval, and human resources represented by the United States and its Allies.

· Admiral Isoroku Yamamoto, commander of the Japanese fleet at the outbreak of the war, put his finger on the fatal weakness of the Japanese concept of the war when he stated, “It is not enough that we should take Guam and the Philippines, or even Hawaii and San Francisco.

· We should have to march into Washington and sign the treaty in the White House.”

· This the Japanese could never do, and because they could not, they had to lose the war.

3.2.7 American Influence on the Outcome of W.W.II

· The war machine that was the U.S had a significant impact on the Allied victory in W.W.II.  

· Upon entry into W.W.II, in December 1941, the U.S immediately began working with the Allies to defeat the Axis forces.

· Even though the United States was attacked by Japan they did not focus all of their efforts on the war in the Pacific.

· They worked with their allies in helping them to defeat the Germans in Europe.

· The U.S becomes a key component in the Allied Coalition and makes extraordinary contributions to the overall war effort.

· The Americans contribute greatly to the war by supplying their allies with military goods needed for victory.

· Military equipment of all types is produced by the United States on a grand scale.

· By 1944 the U.S production of military goods doubles that of the Axis powers.

· Among the military weapons produced by the U.S is the A-Bomb, which becomes a symbol of U.S superiority over all enemies.

· Also, the U.S contributes greatly to the war by drastically increasing the Allies overall strength through its sizable fighting force.

· The number of armed forces personnel the U.S has at its disposal becomes vital to the overall Allied war effort.

· The Americans develop the capacity to fight two wars simultaneously and in the process become arguably the most potent armed force the world had ever seen.

· With such contributions the American influence on the outcome of W.W.II cannot be denied.  

· Their entry was critical to Allied victory in Europe over the Germans.

· At the same time, their vast industrial and human resources allowed them to maintain and eventually overcome the Japanese in the Pacific.

3.2.8 Should the U.S have dropped the A-Bombs on Japan? 
· The dropping of the atomic bombs on the Japanese cities of Hiroshima and Nagasaki brought W.W.II to an end.

· However, the decision continues to be a topic of debate and a source of controversy.  

Arguments supporting the use of the A-Bomb included:
a. The number of American causalities would be minimized by using the bomb while a conventional invasion would lead to as many as ½ million causalities.

b. The Pacific War to that point saw stiff Japanese resistance and an aversion to surrender as battles were literally fought to the last soldier.  An attack on mainland Japan would only magnify these traits in Japanese soldiers/people.

c. The Japanese still had two million troops and 5000 kamikaze aircraft available to use during a conventional attack.

d. The bombs were seen as a cheaper way of ending the war, as it would end much quicker.

e. Some saw it as a way of getting back (revenge) at the Japanese for attacking Pearl Harbour.

f. Dropping the bombs would have a secondary effect of intimidating the Soviet Union, hoping to slow and deter their territorial aspirations.

g. The use of the bomb would show the world America’s strength and that they had virtually no weaknesses.

Arguments condemning (against) the use of the A-Bomb included:
a. Conventional bombing of Japanese cities would sufficiently reduce Japanese strength to a point where an invasion by armed forces could occur.

b. The U.S could begin a comprehensive blockade of Japan and have the USSR invade Japanese forces in China.  As a result there would have been low number causalities for U.S forces.  The Japanese population would suffer from shortages of food, medicine, and essential supplies.

c. The surrender terms could have been changed from unconditional to conditional surrender. It would have allowed the Japanese leaders to save face and not fear humiliation.  

d. The two cities were of limited military value and civilians outnumbered military personnel in Hiroshima 6 to 1.

e. Others argued that the bombs were used for political rather than military reasons.  The bomb would intimidate the USSR and deter them from taking a hard line at the peace negotiations at Potsdam.

f. Some felt that the bombings were racially motivated, arguing that the atomic force would never have been used on a European city and that they were “only Japs”.

g. The biggest reason for not dropping the bomb was the impact it would have on civilians.  There would be many thousands of innocent people that would die on impact, many more would suffer and eventually die due to radiation, burns/poisoning and many would die years afterwards and birth defects would be common.

3.2.9 The Tragedy of War

· During W.W. II many atrocities were committed against people on both sides of the fighting.

· Below are THREE examples of such cases of man’s inhumanity towards man.

A. The Holocaust:
· It had become a policy of Nazi’s to eliminate all Jews from Europe.

· It began in the 1930’s when Jews were stripped of their right, possessions and forced to live in concentration camps and urban ghettos.

· In January 1942, Hitler gave orders to apply “the final solution of the Jewish question,” the systematic extermination of the Jews under German control.

· At first, firing squads carried out mass murders.

· Later on other techniques were used.

· Jews were transported by railway cattle cars and trucks from all over Nazi occupied Europe to death camps such as Treblinka, Auschwitz, Belsen, Dachau, and Buchenwald.

· At these camps, those who would work were spared the gas chamber temporarily.

· As more arrived at these camps great numbers were herded daily into gas chambers to their deaths.

· By 1945, six million Jews had been murdered in the death camps.

· Over 65% of the Jewish population of Europe had been eliminated.

· The Nazis had carried out genocide, the deliberate extermination of a group of people.

B. Allied Bombing of Dresden:
· The massive allied bombing (firebombing) of the German city of Dresden in February 1945 resulted in nearly 100 000 civilian deaths.

· The city was a railway distribution centre overcrowded with refugees and was of little strategic value in the war.

· The strategy behind the bombing of the German cities was to break civilian morale.

· It has been questioned why it was so necessary to inflict so much suffering to innocents during the last months of the war.
C. Japanese Treatment of Prisoners of War:
· The Japanese believed that surrender was dishonourable.

· Those who surrendered were held in contempt.

· The Japanese also wanted to dispel the myth of white superiority.

· These two factors led to harsh treatment of Allied prisoners (poor living conditions and forced labour).

· In the Philippines, 70 000 soldiers were forced to march 100 km under a blazing tropical sun with almost no food or water.

· Only 54 000 survived the march.

· Prisoners of war held by the Japanese were basically used as slaves and it is estimated that 130 000 POW’s died building the Burma-Siam railway.
“Never in the field of human conflict, was so much owed by so many to so few.”








“But if we fail, then the whole world, including the United States, including all that we have known and cared for, will sink into the abyss of a new dark age made more sinister, and perhaps more protracted, by the lights of perverted science. Let us therefore brace ourselves to our duty and so bear ourselves that if the British Commonwealth and its Empire lasts a thousand years, men will say this was their finest hour.”
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